2006A KS2 Q7

Lin needs to solve this problem.

‘How many children
are in the class?’

Tick (v") all the information that Lin needs to solve her problem.

There are 9 girls in the class.

5 girls in the class wear glasses.

Problem

2000A KS2 Q12

Leon and Sara each started with different numbers.

There are twice as many boys as girls in the class

Help Code : 023
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| subtracted 8
from my number.

| added 5
to my number.

Leon and Sara both get the same answer.

What numbers could they have started with?

Leon Sara



https://www.youtube.com/watch?v=KZoacZ9k9ZA&index=12&list=PLS3PH82bo0VD4taaQGkL0Gl-3N2AnmO2r
https://www.youtube.com/watch?v=Q3J7VV8Ysi8&index=17&list=PLS3PH82bo0VDFLB1GO9MFyP7qMuzBVyJt

